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3) The Boyles would like to buy the dining set shown. How much
would it cost them for the table and 4 chairs?
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4) Brian collected £45 from each of the 70 staff at Hydro Water for the
Christmas party. How much money did he collect altogether?

5) Chocolate frogs cost 12p, orange bottles cost 7p and sherbert fizzys
cost 5p. Find the cost of 6 chocolate frogs, 4 orange bottles and
8 sherbert fizzys.
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6) Two shops are selling the same model of television.

They are offering these for sale with different deals.

Which shop has the cheaper deal? Justify your answer.
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7) lan needs to buy car insurance.
He spots these deals with two companies.

Which insurance company has the cheaper deal?

Justify your answer.
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1) Katie has 192 books. She has 8 shelves on her bookcase. How many
books can she fit on each shelf?

2) A group of 138 pupils from Tarley Primary School are visiting the
science museum. They are split into groups of 6 pupils. How many
groups are there?

3) Mr Miller inherits £7600. He decides to keep £3000 and share the
rest equally among his 5 grandchildren. How much does each
grandchild receive?
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4) Mrs Hussein charges £50 for a decorated cake.
If she made £8000 last year, how many cakes did she sell?

5) Mr Bell bought fifteen 20-litre tins of cooking oil.
If he uses 4 litres each day, how long will it last?
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6) Mr Kane is organising a trip for the pupils in S2.

He needs to hire buses to accommodate the 171 pupils and teachers
attending.

49-seater 26-seater

£210 £130

He wants to pay the lowest total hire charge available.

How many buses of each size should he hire?
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8) An empty box has a weight of 325g.
When twenty bars of soap are put into it, it has a weight of 1625g.

What is the weight of one bar of soap?

9) An empty box has a weight of 250g.
When thirty tins of soup are put into it, it has a weight of 9400g.

What is the weight of one tin of soup?
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1) Two tables are placed together to form a larger one. If the first table
is 68:5 cm long and the second table is 58:8 cm long, what is the
total length?

2) A piece of wood is 37-4 cm long. If 12-7 cm is cut off from one end
what length remains?

3) A child places 5 toy bricks of length 14:6 cm in a straight line.
What is the total length?

4) A piece of ribbon 114-8 cm long is shared equally among 7 girls.
What length should each girl receive?
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5) Three boxes weigh 4-6 kg, 7-9 kg and 182 kg.
What is the total weight?

6) A bottle of Coca-Cola holds 2 litres. What volume remains after a
glass of 0-35 litres has been removed?
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1) 2-3 2) 7-9 3) 14-19 4) 12-15
5) 6-11 6) 9-16 7) 18-25 8) 3-24
9) 22-38 10) 39-54 11) 4-37 12) 8-47
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1) 3+(-2)
5) 11+(-9)
9) —5+(-5)
13) —-8+(-10)
17) -11+(-9)
21) —4+(-4)
25) —2+6
29) -8+11

2) 6+(-4)
6) 9+(-10)
10) —4+(-10)
14) —10+(-2)
18) —7+(-13)
22) —4+(-2)
26) —3+10
30) —6+1

3) 4+(-7)

7) 7+(-16)
11) —3+(-12)
15) —-3+(-3)
19) —10+(-10)
23) —4+4

27) -3+1

31) —3+2

4)

8)
12)
16)
20)
24)
28)
32)

6+(-6)
—4+43
—5+(-3)
—5+(-1)
—12+(-7)
—9+(-9)
-5+6
—7+3
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1) 7-(-5) 2) 9—-(-1) 3) 7-(-9) 4) 6—(-13)
5) 9—(-8) 6) 18-(-1) 7) 5-(-19) 8) 2—(~15)
9) 17—-(-15) 10) 29-(-17) 11) 56-(=9) 12) 68— (=27)
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Round the following correct to the stated number of significant figures.
1) 66-3082 (5sf) 2) 66:3082 (4sf) 3) 66-:3082 (3sf)

4) 663082 (2sf) 5) 66:3082 (1sf) 6) 0-008047 (3sf)
7) 0008047 (2sf)  8) 0-008047 (1sf)  9) 0-487 (2sf)
10) 2487 (2sf) 11) 2987 (3sf) 12) 2.987 (2sf)

13) 2:987 (1sf) 14) 0-020487 (4sf)  15) 0-020487 (3sf)
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Round the following numbers correct to the number of decimal places
indicated.

51) 14-3827 (3dp)  52) 14-3827 (2dp)  53) 14-3827 (1dp)
54) 6-3025 (3dp) 55) 6-8025 (2dp) 56) 6-8025 (1dp)
57) 23-4723(1dp)  58) 0-81607 (2dp)  59) 9:0869 (2dp)
60) 90869 (1dp) 61) 27-492 (2dp) 62) 27-498 (2dp)
63) 234567 (4dp)  64) 2-34567 (1dp)  65) 6:9025 (3dp)
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1) Work out:

a) 50% of £84 b) 25% of £1000 ¢) 20% of £80
d) 10% Of £40 e) 20% of £6400 f) 331 % of £81
g) 50% of £9 h) 10% of £52 i) 10% of £63
j) 75% of £48 k) 75% of £92 1) 66% % of £45

m) 33 % % of £7.20 n) 662% % of £153-60 o) 75% of £61
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2) Aturtle laid 132 eggs. 50% of them were eaten by birds.
How many were eaten by birds?

3) 20% of the pupils in a school are left handed.
If there are 1100 pupils, how many of them are left handed?

4) 25% of the items sold at a car boot sale were CDs.
How many CDs were sold if there were 5400 items?

5) In Glasgow in 2009, it was sunny for 20% of the time.
If there are 365 days in a year, how many days was it sunny for?
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1) Alawnmower costing £130 is reduced by 50% in a sale.
Calculate the sale price of the lawnmower.

2) A gamestation costing £120 is in the sale marked “25% discount.”
Calculate the sale price of the game station.

3) A pair of shoes are reduced by 10%.
If the shoes cost £50 full price, how much are they after the
discount?
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5) A tourist helicopter ride to the Grand Canyon costs £162. Children
under 5 years of age receive a 75% discount. How much does it cost
for a child under 5 years of age to visit the Grand Canyon?

6) A shampoo bottle usually holds 240ml. In a special offer 25% is
added to the contents.
Calculate the amount of shampoo in the special offer bottle.

7) A cake shop decides to increase the weight of each cake by 20%.
Each cake used to weigh 1600g.
How much does each cake weigh now?

8) A painting costing £320 has its price raised by 50%.
How much does the painting cost now?
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Calculate:
1) 12% of £600
4) 28% of £522
7) 57% of £62
10) 18% of £94
13) 82% of £84

2)
5)
8)
11)
14)

23% of £280
24% of £16-50
42% of £812
74% of £26
18% of 22-50

3)
6)
9)
12)
15)

36% of £25
19% of £343
83% of £4100
14% of £598
12% of £85-50
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16) 84% of £68.50 17) 8:5% of £64 18) 7-2% of £620
19) 3:1% of £540 20) 10-7% of £8390 21) 4%% of £18

22) 12%% of £84 23) 3%% of £650 24) 2%% of £12
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2) Calculate the new price of the following items after the following

increases:
ITEM COST INCREASE

a) Laptop £400 12%

b) Camera £560 35%
c) Calculator £12 14%

d) Playstation £200 32%

e) Ornament £34 26%

f) Book £15-50 16%
g) | £12 11%
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1) Calculate the sale price of the following items with the reduction:
stated:

ITEM

INCREASE

TV £350 15%
DVD Player £440 22%
Home Theatre £849 18%
Skirt £84-20 37%
Shirt £35-60 28%
Ornament £64-58 45%
Table £220 7-5%
Carpet £640 18% %
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1) A salesman has a salary of £16500. He receives a bonus of 4% of his
salary. How much does he get altogether?

2) £820is divided between 2 ladies. One gets 65%.
How much does each receive?

3) In a class of 40 pupils, 55% are girls.
How many boys are there?

4) In 1981, the population of a town was 8030.
By 1991, the population was just 90% of this figure.
What was the population in 19917
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5) A carcost £12460 when new.
A year later, its value was only 75% of this.
What was its value a year later?

6) The composition of brass by weight is 64% copper, 32% zinc and the
remainder is lead. Find the weight of
a) copper b) zinc c) lead in 650 kg of brass.

7) During a sale, all items are sold with 15% off their usual cost.
What is the sale price of a CD which usually costs £12:20?

8) There are 40 people in a doctor's waiting room. 65% are male.
How many are female?
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Country Rate
Mainland Europe £1 = €1-16
USA £1 = $1-28
Russia £1 = 38-60 Rubles
Poland £1 = 5:20 Zloty
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1) ATV costs £700 in the UK. How much would it cost in the USA?

2) A polish company receives a loan of £2 000 000 from a British bank,
how much is this in Polish Zloty?

3) A computer costs £600 in the UK. How much would it cost in France?

4) Simon paid £470 for his computer in a shop in Scotland, how much
would be the same computer be if he bought it in Russia?

5) A polo shirt costs £18 in Scotland, how much will this be in Russian
Rubles?
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7) A purse costs $33 in the USA. How much would it cost in the UK?

8) If the price of a camera is 4632 Rubles in Russia how much would
the same camera cost in Scotland?

9) Gillian paid 234 Zloty for a new coat while on holiday in Poland,
what would she pay for the same coat if she bought it in England?

10) Jose Mourinho was paid the same salary with Real Madrid as he was
paid when he returned to Chelsea. If he was paid €174 000 per
week at Real Madrid how much was his salary at Chelsea?
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1) Find the average speed for each of these journeys.
a) Shaun drives 245 miles in 7 hours
b) An aircraft flies 1125 kilometres in 1 hour 15 minutes

c) Sarah drives 171 kilometres in 4 hours 45 minutes.
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2) Calculate the time taken (in hours and minutes) for each of the following
journeys.

a) 132 km at an average speed of 12 km/h
b) 351 miles at an average speed of 52 mph
c) 95 km at an average speed of 38 km/h.
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3) Calculate the distance travelled in journeys whose times and average
speeds are:

a) 4 hours, 69 mph
b) 3 hours 15 minutes, 64 km/h
¢) 5 hours 30 minutes, 92 km/h.
4) A and B are two aircraft.
Aircraft A flies a distance of 962 miles in 2 hours.
Aircraft B flies a distance of 1644 miles in 3-5 hours.

Calculate the average speed of each aircraft, and say which one flew
faster, on average.
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5) A freight train travels at a steady speed of 35 mph.
a) Calculate the time taken, in hours, to travel a distance of 168 miles.
Give the answer in decimals.
b) Change your answer to hours and minutes.
6) Ata constant speed of 13 m/s, how far will a racing bike go in
a) 10 seconds b) 1 minute?

7) A woman goes on a country walk. She covers 18 miles in 4 hours, ata
steady speed. What is her speed in miles per hour?
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1) Work out the perimeter of the following rectangles (no calculator)
|:| |:| =
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Find the perimeter of each of the shapes below, all lengths are in cm:
16

a) b) 15 c)
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Work out the perimeter of these shapes (lengths are in cm)

1) 2)

10
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12

4) 16

20
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2) Work out the area of the following rectangles
(do not use a calculator)

a)
Zcm
d) 1lm

Dg

wop

[
']

Wo7
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1)

2)

Anna has a rectangular piece of grass 16m
in her garden. She wishes to turf it at

a cost of £1-65 per m”. 1im
Find the cost of turfing her garden.
49
Ross decides to paint one wall of his -
bedroom blue. 3:8m

One tin of paint covers 8m>.
How many tins will he need?
If a tin costs £10-65 how much will it cost him?
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Find the area of the following shapes, all lengths are in metres.

8
1) 5 2
3
3
12
3) 3 a
9
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5)

20

13

6)

33

21

8
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Work out the volume of the following cuboids (lengths are in cm)

6 4
) . ' 2 N
11 12
! 4
4 4
7 8
v v
5 6

20 15
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2) A container, in the shape of a cube of side 20 cm, holds sugar

Cane

sugar ﬂ
litre

20 cm

a) Calculate its volume in cm®
b) How many litres can it hold?

¢) How many 4 litre packets can be filled
from the box when it is full?
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3) A carton of orange juice is in the
shape of a cuboid measuring 30cm,
by 20cm, by 40cm.

a) Calculate its volume in cm?®
b) How many litres can it hold?

The carton is poured into a plastic
container in the shape of a cuboid
to make up a fruit punch.

¢) Calculate the volume of the container in cm’®
d) How many litres can the container hold?

e) How many cartons need to be poured in to fill the container?
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Write each of the following ratios in simplest form.

a) 2:8 b) 9:3 c) 8:4 d) 4:12
e) 10:5 f) 6:12 g) 20:5 h) 12:3
i) 6:18 i) 5:35 k) 7:28 1) 6:6

m) 20:4 n) 30:3
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1) Brian and Norma are given £32 to share between them

in the ratio 3:5.

a) How much does Brian get?

b) How much does Norma get?
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2) George and Evelyn share
£450 in the ratio 1:2.
a) How much does George get?

b) How much does Evelyn get?

£

3) Tamsin and Hugh share —
£360 in the ratio 5:4.

a) How much does Tamsin get?

b) How much does Hugh get?
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Ravi and Delia share £4800 in the ratio 5:7.

Calculate how much each person gets?

William and Ruth share £800 in the ratio 2:3.

How much does each get?

Divide: a) 80cm of wire in the ratio 1:3.

b) 95litres of juice in the ratio 2:3.
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1) Two tables are placed together to form a larger one. The first table is
67-4 cm long and the second table is 56:8 cm long.
What is the total length?

2) Three boxes weigh 4-6 kg, 7-9 kg and 182 kg.
What is the total weight?

3) What length of shelf is needed to hold books with thicknesses of
6:3cm, 7:4cm, 1-8 cm, 2:8 cm and 4-9 cm?
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Share £175 in the ratio 4:2:1.

Share £256 in the ratio 5:2:1.

Share £396 in the ratio 6:3:2.

Share £455 in the ratio 6:5:2.
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13)
14)

15)

16)

Share £300 in the ratio 6:5:4.
Share 950kg of soil between 3 gardeners in the ratio 4:6:9.

Share 4200ml of water between Mr Brown, Mrs Jones and Mr
Westwater in the ratio 3:7:2.

A carton containing 2000 millilitres of milk exactly fills 3 glasses

belonging to Dieter, Jan and Joe.

If the amounts each glass holds are in the ratio 11:8:6, how much
milk does each child receive?
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If 5 books cost £15, find the cost of 8.

If 7 apples cost 63p, find the cost of 12.

If 4 batteries cost 180p, find the cost of 7.

If 5 bottles of beer cost £2:45, find the cost of 12.

Toy cars cost £3:36 for 8. Find the cost of 10 cars.

Crisps cost £1.32 for 12 packets. Find the cost of 20 packets.
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A machine takes 20 seconds to make 8 coins.
How long does it take to make 50 coins?

A plane flies 50 km in 15 minutes.
How long will it take to fly 300 km?

If 8 pencils cost 56p, how many can be bought for 70p?

6 pineapples can be bought for £3-12.
How many can be bought for £5-207?

If 20 m? of carpet costs £150.
What area of carpet can be bought for £90?
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2)
3)

4)

2% m of metal tube cost £1-40. Find the cost of 7% m.
3% kg of sweets costs £2-60. Find the cost of 4% kg.

The cost of a phone call lasting 3 minutes 30 seconds was 52-5 p.
At this rate, what was the cost of a call lasting 5 minutes 20
seconds?

80 cm® of calcium weigh 120 g.
a) Calculate the weight of 60 cm?.

b) What volume of calcium weighs 270 g?
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16) What reading is indicated by the pointer on this weighing machine?





image64.png
17) a) Whatreadingis shown in each thermometer?

x y

Y v
——Illllllllllllllllllllllllllllllllll

b) What temperatures are indicated by the 2 arrows on the
thermometers?
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1)

This bar graph gives the amount of rain which fell on each day of a

week.

a) Which day had the highest
rainfall?

b) Which day had the lowest?

¢) On what days did the same
amount fall?

d) Give the rainfall for each
day?

0-8
07
0-6
05
04
03
02
01

Rainfall (inches)

Sun
Mon
Tue
Wed
Thu
Fri
Sat
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4) Judy received her weekly pay of £540. She spent £68-43 in the
supermarket and £27-99 on a pair of shoes.
How much did she have left?
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Here is a bar chart
showing class attendance
for one week.

a) Which day had the best
attendance?

b) Which day had the
lowest attendance?

c) What was the total
attendance for the
week?

d) What was the average
attendance?

Attendances

WEDNESDAY

THURSDAY

—]
—]
—
—]

>

S .

(7]

g

=]

—]

—]

—]

—]

—]

—

|
[ |
[ |
[
-
o
=z

o

=
[ |
[
[ |
[ |
[ |
[ 1

Day




image67.png
This Bar Chart was made following a survey of an S4 class asking the
pupils their favourite subject and their 2™ favourite subject.

a)

b)

<)

d)

How many pupils are
in the class (careful)?

How many pupils
chose Maths as their
favourite subject?

How many pupils
chose Maths as their
2nd favourite subject?

How many pupils
chose PE as their
favourite or their 2"
favourite subject?

No. of Pupils

10 -

=3

=

~

Fav E

2nd Fav -

Maths

English

Bk

Subject

Science Drama
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1) This pie chart shows the results of a
survey into brands of coffee bought by

96°

900 people. Supermarket
Use the pie chart for information and 160°
calculate the number of people who Nescoffee

buy each brand of coffee.





image69.png
1)

This stem and leaf diagram shows the distance travelled by a taxi on
different hires.

km travelled
a) Write out level 3 in full.

i ?
b) How many journeys are shown? 1lae7?

c¢) Whatis the second longest journey? 2l3a4as9

d) If journeys of length 25 km or less are 3lo27
classed as Type A journeys,

4|2
How many journeys were there?

n=12
2‘3 represents 23 km
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This stem and leaf diagram shows the distance
travelled by a taxi on different hires.

a) Write out level 3 in full.
b) How many journeys are shown?
c¢) Whatis the second longest journey?

d) If journeys of length 25 km or less are
classed as Type A journeys, how many
Type A journeys were there?

km travelled

0|56
11378
22289
3|4
4|23

n=12
2|1 represents 21 km
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1) Sarah is confused by her test marks in English for October and
March.

October: 20 out of 25
March: 24 out of 30

Calculate her percentage mark for each test. Had she improved?
Justify your answer by calculation.

2) Mark sowed three different kinds of flower seeds. The results are
shown below.

Type A produced 40 plants from 50 seeds

Type B produced 35 plants from 40 seeds

Type C produced 23 plants from 25 seeds.
Which flower seed was most successful?
Justify your answer by calculation.




image72.png
3) Two dance clubs are to send representatives to a show.
The representatives are chosen at random.

Club A has 26 members and 5 tickets to use.
Club B has 34 members and 7 tickets to use.

In which club does any one person have a better chance of being
selected?

Justify your answer by calculation.

4) Three rugby teams play in the same town.
Team A have won 5 out of their 9 games.
Team B have won 7 out of their 12 games.
Team C have won 9 out of their 14 games.
Which team has the best winning record?
Justify your answer by calculation.
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1) Everyone should eat 5 portions of fruit or vegetables every day. The
first food Harry eats one morning is an apple for breakfast:

a) What percentage of his recommended daily amount has he
had?
b) If he eats a portion of sweet corn with his lunch and a banana

after lunch what percentage of Harry’s recommended daily
allowance has he still to eat?

2) A Mars Bar contains %sugar, a Snickers contains ;—lsugar anda

Topic contains 2—1 sugar. Which bar has the most sugar in it?
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3) 3 breakfast cereals each claim to have a low percentage salt content.
In a 500g packet of Cornyflakes there are 7.5 grams of salt, a 1kg
packet of Crispie Rice has 16 grams of salt and a 200g packet of
Sugar Pops has 2.8 grams of salt.

a) Calculate the percentage of salt in all 3 cereals
b) Which cereal has the lowest salt content?

4) The recommended daily amount of salt is 6 grams. Sarah’s breakfast
had 1-5 grams of salt in it. What percentage of her recommended
daily amount has she had?




image75.png
5) 3 different packets of Cheese and Onion crisps are tested for
saturated fat.

Walkers 30g packet has 3g of saturated fat.
Golden Wonder 25g packet has 2-6g of saturated fat.
McCoys 35g packet has 3-4g of saturated fat.

What crisps would be the healthiest option?

You must give a reason for your answer.
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5) In the final vote for the winner on “Biggest Brother” Jana received
11240 votes and Adam received 9768 votes.

a) How many votes were there in total?
b) By how many votes did Jana win?
6) To make green paint, a painter mixes 27-42 litres of blue paint with

14.3 litres of yellow paint. He uses 17-3 litres of this green paint.
How much paint is not used?
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6) Mesco’s the supermarket sells healthy choice ready made meals.
They have 1-5 grams of fat per 100 grams. What is the percentage of
fat in these meals?

Angela in the school canteen makes her own versions of these
meals. These weigh 300 grams and have a fat content of 4 grams.

Which meal contains the least percentage of fat?
Justify your answer by calculation.

7) Before adding milk a 60g portion of All Bran cereal contains 15g of
sugar, a 70g portion of Corn Flakes contains 17g of sugar and a 50g
portion of Frosties contains 14g of sugar. What would be the
healthiest breakfast cereal? You must give a reason for your answer.
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1) Mr Johnston can make 32 cones from one tub of ice cream. In one
weekend he used 8 tubs. How many cones did he make?

2) If one T-shirt cost £9:96, how much will it cost to buy 7 of these
T-shirts?




